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Evaluation of Detection Uncertainty of § ~— 90 in Water

JIAN G Yurrping
(Jiangsu Radiation Environmental Monitoring and Management Station,
Nanjing, Jiangsu 210036, China)

Abgtract : The reaon which detection uncertainty of Sr~ 90 in water was larger than norma chemica
analyss method was studied. The detection uncertainty of S ~— 90 was studied with fish bone graphica
method. When detecting Sr ~ 90 in water , the uncertainty was influenced by sample detection, instrument

detection eficiency , sample chemica recovery rate and sample volume.
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(2) U2412
_ U 2 U
U212 = y\/(km )+ (k( Mg + m )) )
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